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103 × 8         =

1400 : 100   =

640 + 360    =

4200 ( Э )600 × 7         =

824 ( К )

25 × 1000    =
14 ( О )

25000 ( Л )
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: 5 = 150

700: = 2

: 200 = 5



делимое 81 69 250 700

делитель 9 6 5 80

частное 8 3 3 100



Х + 85 = 100 

180 : А = 
90Х : 9 = 120 : 

2



Печоро 
Илычский 
заповедник



ПОПОЛЗНИ – 335 Г.

ДЯТЛЫ - ?, В 3 РАЗА > , ЧЕМ

СКВОРЦЫ - ?, В 5 РАЗ > , ЧЕМ НА ? 
>



2S = 36 км
Ш. = 3 
км

Д. = ?

Ямозер
о



6800 – (1648 : 8 + 78 х 4)

31100 – ( 4180 × 3 + 236 × 8)

Вара
н Лис
а Ондатр
а 

= 16672
= 6282
ошибка
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